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PSSA Math: Spools of Ribbon, Grade 5

78.

Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
« spool 1: 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.
Spools of Ribbon

Spool Greatest Number Fraction of a
Nu‘:nber of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining
1
2
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PSSA Math: Spools of Ribbon, Grade 5

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of

feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5

Grade 5 Math

Spools of Ribbon

Assessment Anchor this item will be reported under:

MO05.A-F.2 Apply and extend previous understandings of multiplication and division to
multiply and divide fractions.

Specific Anchor Descriptor addressed by this item:

M05.A-F.2.1 Solve multiplication and division problems involving fractions and whole
numbers (straight computation or word problems).

Scoring Guide:

Score

In this item, the student -

4

Demonstrates a thorough understanding of how to apply and extend previous
understandings of multiplication and division to multiply and divide fractions by
correctly solving problems and clearly explaining procedures.

Demonstrates a general understanding of how to apply and extend previous
understandings of multiplication and division to multiply and divide fractions by
correctly solving problems and clearly explaining procedures with only minor
errors or omissions.

Demonstrates a partial understanding of how to apply and extend previous
understandings of multiplication and division to multiply and divide fractions by
correctly performing a significant portion of the required task.

Demonstrates minimal understanding of how to apply and extend previous
understandings of multiplication and division to multiply and divide fractions.

The response has no correct answer and insufficient evidence to demonstrate any
understanding of the mathematical concepts and procedures as required by the
task. Response may show only information copied from the question.

Non-

scorables

B — Blank, entirely erased or written refusal to respond
F — Foreign Language

K - Off-task

U - Unreadable

Top Scoring Student Response And Training Notes:

Score

Description

4

Student earns 4 points.

Student earns 3.0 — 3.5 points.

Student earns 2.0 — 2.5 points.

3
2
1

Student earns 0.5 - 1.5 points.

OR
Student demonstrates minimal understanding of how to apply and extend
previous understandings of multiplication and division to multiply and divide
fractions.

Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.
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PSSA Math: Spools of Ribbon, Grade 5

A.
What? Why?
Spools of Ribbon Sample Work:
] 1
o~ e b e b v 46 +5=9~
H?Jﬁab?rs;f Fraction of 5
Spool | o . | a35footlong 4
Bl 5-foot-long . 19+5=32
Number : Piece ;
Pieces on | ponainin g 5
Spool B OR
_ 1 Sample Explanation:
1 9 I3 Divide 46 by 5 to find the number of pieces on
4 spool 1. There are 9 pieces that are 5 feet long,
2 3 B with 1 foot of a 5-foot-long piece remaining,
which is % . Divide 19 by 5 to find the number
of pieces on spool 2. There are 3 pieces that are
5 feet long, with 4 feet of a 5-foot-long piece
remaining, which is 4 .

(22 score points)

% point for each correct answer

% point for complete support

What?

Why?

2 (feet)

Sample Explanation:

For 27 feet, Zoe could cut 5 pieces with 2 feet remaining since 27 +5= 5% . For the

next 5 additional feet, there would be 32 feet. Zoe could cut 6 pieces with 2 feet

remaining since 32+5 = 6% . For the next 5 additional feet, there wotild be 37 feet.

2
Zoe could cut 7 pieces with 2 feet remaining since 37 +5=7—. As the numerator

(total number of feet) keeps increasing by 5, the denominator (length of each piece)
stays the same at 5. Every increase of 5 increases the number of pieces by 1, but
doesn’t change the fractional amount remaining. So the answer will always be a

mixed number with % representing the fractional part. Since % represents the

fraction of each 5-foot-long piece, the amount remaining will always be 2 feet as
the length of ribbon on the spool increases by 5 feet.

(1¥2 score points)

4 point for correct answer

1 point for correct and complete explanation

OR % point for correct but incomplete explanation
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-1

78. Zoe has fwo spools of ribbon. The length of the ribbon on each spool is listed below.
+ spoo! 1: 46 feet
= spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the {able below by finding the greatest number of 5-foot-long pieces
Zoe can cuf from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remasmng after cutting the
5- foot-!ong pieces.

Show or explain all your work.

Spools of Ribbon
Snool Greatest Number Fraction of a
Nu‘:nb or of 5-foot-long 5-foot-long Plece
Pieces on Spool Remaining

4 A. 2.5 points — all four correct answers and complete support. Suppoft can be shown
by work or by explanation, but must include reference to the remainders.

B. 1.5 points — correct answer (2) and complete explanation. Note that there is no
support required for the number of feet remaining.
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A

78.  Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-fong piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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You gﬁeﬁé’j/\;?,m yor +Q7,
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set

A-2

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

+ spool 1: 46 feet
+  spool 2: 19 feet

Zoe will cut the ribbon info 5-foot-long pieces.

5-foof-long pieces.

o e g e et g

Show or explain ali your work.

Also, find the fractibn of ‘a 5-foot-long piece of ribbon remaining after cutting the

Spools of Ribbon

Al Complete the table below by finding the greatest number of S‘foot-!ong pieces
.Zoe can cut from each spool.

Spool Greatest Number Fraction of a
N p ber of 5-foot-long 5-foot-long Piece
UMBET 1 Pieces on Spool Remaining
1 | g5t prece / &t
- ﬁjﬂwf freces ﬁ—{oaa&
: H #
2 3 ffood feces / 4 \055;{

Spool 20 19+

SPOQ ’ 461‘

5=9Rl so

qé e diec @
5 e hofe B fisce

4 A. 2.5 points — all four correct answers and complete support.

B. 1.5 points — correct answer (2) and complete explanation.
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-2

78. Continued. Please refer to the previous page for task explanation.

e ———

| Zoe has a third spool of ribbon, The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional & feet of ribbon on the spool Zoe can cut

1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

Fof‘ @vecfaJJr'+50Aq( ’;-F«--f ot 1 bbos
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Co Fnee wovld be Lleet lef -
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
+ spool 1; 46 feet

« spool 2; 19 feet

Zoe will cut the ribban into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5~foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explair all your work.

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu%ﬂ?er of §-footf-long 5-foot-long Piece

Pieces on Spool

Remaining | &

! A
z >

o< gl -

5

3 A. 2 points — all four correct answers only. There is no credit given for support because
of the run-on equation (“46 +~ 5= 9.2 = 1/5”).

B. 1.5 points — correct answer (2) and complete explanation.
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set A-3

78.  Continued. Please refer to the previous page for task explanation,

Zoe has a {hird spoo! of ribbor. The spool contains a minimum of.27-feet of ribbon,
iticHarfeerofibborrom i Spool is il (oW,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining. '

As part of the explanation, find the number of feet of ribbon that would be
remaining.

loz G\ Quways \noue oa exrm
Q- T Wow W6 eecguse. & e 995
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D Ql 2
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set A-4

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
« spool 1: 46 feet
+ spool2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Snool Greatest Number Fraction of a
Nu?nb or of 5-foot-long 5-foof-long Piece
Pieces on Spool Remaining
1 9 N
%)
o
: | 2 |5k
' - {
He--5=qR) ]

145241

3 A. 2.5 points — all four correct answers and complete support.

B. 1 point — correct answer (2) and correct but incomplete explanation. The work is
correct and shows some understanding, but explanation of “why” is lacking.
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set

78.  Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be

715= 3,
A745=08Y) 3335737
2L 526
37 +5=/700
There will alweus be. a
remandec o5 o) et,

A-4
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set A-5

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
+ spool 1:46 feet 1 o
+ spool 2; 19 fest %

Zoe will cut the ribbon into 5-foot-long pieces.

A Compfete the table below by finding the greatest number of 5—foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cuttmg the
5-foot-|ong pieces.

Show or expiain all your work,

Spools of Ribbon
Spool Greatest Number Fraction of a
N p°§ r of 5-foot-long 5-foot-long Piece
umbe Pieces on Spool Remaining
1 10

/5 g
’ﬂn Weg -]/ 0”' &] ACu/f '\%0 f):&:’e..)
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'becauéa Tim fﬁy‘”fj $ »(m au/ /'z(JIA} mm

N@_(’M— Jdptt?cfs of r% /an(g a++ ieg

ihg o lfh lace towefted i hinte .

g ‘?mvd 4‘%\“-’* g W s.f,,. g pece ot 4pool 2. \;heg \

4o aﬁg %M?_:; - Wj"pr ) ri ¢ bbw\ &r 610001% m-; 1";" Jr\:);‘y
wWee P F&:‘es {1 1

{} by (76;?’(““" Stme @sson)and ﬁ0‘\‘ 6 dt'—&iw?lc:l\bﬂ (0.‘5):11 X7 wnvtr’reA m%’o 61004

4 F;w.'-&‘oq—tnw prece Gl ibban,

1-

3 A. 2.5 points — all four correct answers and complete support. Note that equivalent
Jfractions for “1/5” and “4/5” are acceptable.

B. .5 point — correct answer (2), incorrect explanation. “Counting down” from 27 by

fives does not answer the question, but credit can be given for the answer if it leads to “2 feet
remaining”.
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set

78.  Continued. Please refer to the previous page for task explanation.

Zoe hasa thzrd spooi of nbbon The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon.on the spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe ¢an cut
1 additional 5-foot- Iong piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, ﬁnd the number of feet Ccif(f(il:x:m that would be

remaining. f‘r\c, Yeason W QN« ‘ ’ a,) a/(
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

» spool 1: 46 feet
+ spool 2: 19 feet

Zoe will cut the ribbon into 8-foot-long pieces.

Zoe can cut from each spool.

5-foot-long pieces.

Show or explain all your work.

A. Complete the table below by finding the greatest number of 5-foot-long pieces

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the

Spouols of Ribbon
Spool Greatest Number Fraction of a
Nul:nber of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining
1 q \7H ‘1"&&"‘ o¥
{ Yoot
: Uss Teedr or
2
3 Y Seel

sthe ot

_9.2/ ¥
%5
/

2 A. 1.5 points — two correct answers (9 and 3) and complete support. Note that if

multiple answers are given for any of the entries in the table, all must be correct in order to
give credit for that entry. Also note that seeing a remainder of “4” when 19 is divided by 5 is

an adequate reference.

B. 1 point — incorrect answer (3), complete explanation.




PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-6

78. Continued. Please refér to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.,
The exact number of additional feet of ribbon on the spoolis unknown.

B. Explain why for every additional 5 feet of ribbon on the.spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same.number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

.!\ﬁ)“ﬂ(}n Toe adds 6:{:4- e % vibhon |

4o hevr Gar .‘3 fonal amoent Sle .}l bave
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set A-7

78, Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
+ spool 1: 46 feet
+ spool2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pleces.

Show or explain all your work.
Spools of Ribbon

Spool Greatest Number Fraction of a
Number of 5-foot-long 5-foot-long Plece
Pieces on Spool Remaining
' A S
10
L
2 ) n

1A Yy
g 377U -\ g

5 Y
N

2 A. 1.5 points — two correct answers (9 and 3) and complete support. Note that for this
item, a “check” is given full support credit (as long as the remainders are also referenced)

because there is only 0.5 point total available for complete support.
B. 1 point — correct answer (2) and correct but incomplete explanation of why.
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set A-7

78.

Continued. Please refer {o the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut

1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set A-8

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
« spool 1: 46 feet
+ spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long plece of ribbon remaining after cutting the
5-foot-long pieces. _

Show or explain aii your work, L
Spoois of Ribbon

Spool Greatest Number Fraction of a
Nu‘?nb ar of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining

! C?%;e:\' 0. feet
2 Dlet | OF et

1 ‘A 15 points — two correct answers (9 and 3) and complete support. Note that decimals
are adequate for the support, but in the table fractions are required for the length of the
remaining pieces. Also note that if an incorrect label is included in the table (none is
required), the paper cannot receive a score of “4”. There is no penalty at any other score
point, as seen here.

B. 0 points — incorrect answer gg 7'5) and incorrect explanation.
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-8

78. Continued. Please refer to the previous page for fask explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional § feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of

feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would ba
remaining. : :

The reason 1S becavse doesn 4
Nave an exget number of Yhat
Can equglly be dinded into pleces
that are 5ot long, The unknown
nomMber s A7,
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-9

78. Zoe has two spools of ribbon. The length of {he ribbon on each spool is listed below.

» spool 1: 46 feet q 4s oy | Eff“\\ ,(IQ?" Q\t,
+ spoal 2: 19 feet 5 & (L _qu- ?_i__é;
-7

Zoe will cut the ribbon into 5-foot-long pieces. (1

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool. '

Also, find the fraction of a 5-foot-long piece of ribbon remaining afteg cutting the
5-foot-long pieces. ’

Show or explain all yo‘ur'w'vork. (’3 /
Spools of Ribbon N
Snool Greatest Number Fraction of a
Nugnb er of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining & \0\6

! ('f Al 'JL:" | ,\®
2 3 s E'5"
bk o gejr fine T Clavided Qer& Sk
53 Cve o 3&%“ Nine r‘eime{w}er* Ohe
hen I+ is One  over fve  Jho T ga)

#‘Q three b}j d@uid{w lhe inteen !3}} e

403@.1. ‘err:e Reivyieryer (our o then -

S ﬁ%ur* Over

1%

1 A. 1.5 points — two correct answers (1/5 and 4/5) and complete support. Note that if
multiple answers are given for any of the entries in the table, all must be correct in order to

give credit for that entry.
B. 0 points — no answer is given and the explanation is incorrect.
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-9

78.  Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spoo! Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

l-Q e @m‘ amlrain:d
H’W‘H\g et of ¢ bbon  She. COu[d
Cur six Qe Lok 40 rbbon,
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PSSA Math: Spools of Ribbon, Grade 5 Anchor Set

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

spool 1: 46 feet
spool 2: 19 fest

Zoe will cut the ribbon into 5-foot-Jong pieces.

A-10

A.

Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from gach spool,

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foct-long pieces.

Show or explain all your work.

Spools of Ribbon
Snool Greatest Number Fraction of a
Nu?nb er of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining
1 1
1 1\ He 2019
'l

2 | u7 25
et Toyd 0 I teeR

Lo Aurder T o€ Fhe

V\u—mcle/

canré —}’})Q{“ \'5
= @Jf‘ The 4 ) Sovpn

\’\ owv

0 A. 0 points — all incorrect answers and incorrect support.

B. 0 points — no answer is given and the explanation is incorrect.
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PSSA Math: Spool of Ribbon, Grade 5 Anchor Set A-10

78. Continued, Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA and Keystone Exams
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-1

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
» spool 1: 46 feet
+ spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of S-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu?‘nb or of 5foot-long 5-foot-long Piece
Pieces on Spool Remaining
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-1

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe ¢an cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

T ¥now 15 becouse € dhe cuts 5

Coor 1ONG CiDi0N  Diaces i+ LW

be the Some r\um‘o.er‘ of ibbon
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-2

78. Zoe has two spools of ribbon, The length of the ribbon on each spool is listed below.
« spool 1: 46 feet
» spool 2: 19 feet

Zoe will cut the ribbon into. 5-foot-long pieces.

A, Complete the table below by fi ndmg the greatest number of Snfoot-long pieces
Zoe ¢an cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Soool ‘Greatest Number Fraction of a
: Nugnber -of 5-foot-long 5-foot-long Piece
.Pleces on Spool Remaining
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-2

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spootl of ribbon. The spool contains a minimum of 27 feet of ribbon, '
The exact number of additional feet of ribbon on the spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut

1 additional 5-foot-long piece of ribbon but will always have the same number of |
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
For exg E’}\C\a;'\{@ﬂ%\; % S{‘-CQ}\(' Q&' Odosn o0 e
Seed 2ob L Lot | mere. H-toot-tone, Detce. becewse,’
She 1S °\M'\1}j one ,-,(mce,atﬁu?lg 2ot odds. 5 feet
Toly ot o Amipe Oey DRt There 3N pe.
W Gtomuledion W ghe NS Jost "’rv\\"\i\n& swWay whar|
Ihe, C@\(\wa Ne e paws of fiban onfe ban&
odded o Aven Yhe, eaneont of  efho- N oluey’s
Sy Yae sume Ty ) Yhe nOwber of Ak,
REC Koy yov wodl§ Awide A7 Seek vy
5 Sk ownd ack B ooup o?—,gw‘r \O\nd AReo.
Toekor el wdd oo e sAdiorel Lepl-
Nownekes o) Ve Moty gmu‘:a D5 afe

added,

Page 4-30



PSSA Math: Spools of Ribbon, Grade 5 Training Set 1

+ spool 1; 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

T1-3

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

Zoe can cut from each spool,

5-foot- -long pieces.

Show or explain all your work.”
Spcols of Ribbon

A. Complete the table below by finding the greatest number of 5-foot-long pleces

Also, find the fraetion of a 5-foot-long piece of ribbon remammg aﬂer cuttmg the
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-3

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spoot is unknowi.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

fés;n ;;a;;ti :g the ei(planai’t;on find ﬂi{e: ;}umber of feet of ribbon that wouldbbe
| ’709/‘,,/,[/ ove e s € numoe
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-4

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
» spool 1: 46 feet
» spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.,

Also, find the fraction of a 5-foot- long piece of ribbon remainingafter cutting the
5-foot-long, pieces.

Show or explain all your work.

Spools of Ribbon _
Spaol Greatest Number Fraction of a
Nu?nb or of 5-foot-long 5-foot-long Piece
Pleces on Spool Remaining -
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-4

78.  Continued. Please refér to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-5

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below,
« spool 1: 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Pieces on Spool

Spools of Ribbon _
Spool Greatest Number Fractlon of a
Nu':)'nber of 5-foot-long 5-foot-long Piece

Remaining
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-5

78.  Continued. Piease refer to the previous page.for task explanation.

Zoe has a third spool of ribbon. The spoo! contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on'the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 1 T1-6

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
« spool 1: 46 feet
« spool 2: 19 feef

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the-fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu?’nber - of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining
1 q L
5
> |3 5
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-6

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut

1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining. -
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 1

T1-7

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

+ spool 1: 46 feet
+ spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

Zoe can cut from each spool.

5-foot-long pieces.

Show or explaih alt your work.

A. Complete the table below by finding the greatest number of 5-foot-long pieces

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the

Pieces on Spool

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu?nb or of 5-foot-long §-foot-long Piece

Remaining

T 1 9A
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2 | D9
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 1 T1-7

78.  Confinued. Please refer to the previous page for task explanation,

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the speol is unknown,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanat:on find the number of feet of ribbon that would be
remaining.

5 :(5 % "me Y Cee
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 1

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

+ spool 1: 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

T1-8

Zoe can cut from each spool.

5-foot-long pieces.

Show or explain all your work.

A. Complete the table below by finding the greatest number of 5-fool-long pieces

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the

Spools of Ribbon
Snool Greatest Number Fraction of a
¢ Nu?nb or of 5-foot-long 5-foot-long Piece
S Pieces on Spool Remaining
Nty teedl ¢ 8
) e ~
K3 L q P Ci?;’é P leces
oS
3 Y P(c
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-8

78. Continued, Please refer to the previous page for task explanation.

Zoe has a third spoo! of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

A,
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-9

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below,
+ spool 1: 46 feet

spoot 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Ailso, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-fong pieces. .

Show or explain all your work.
Spools of Ribbon
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1

78.

T1-9

Continued, Please refer to the previous page for task explanation.

1 additional 5-foot-long piece
feet of ribbon rernaining.

As part of the explanation, fin

Zoe has a third spool of ribbon, The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut

of ribbon but will always have the same number of

the number of feet of ribbon that would be

remaining. 7 .
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PSSA Math: Spool of Ribbon, Grade 5 Training Set 1 T1-10

78. Zoe has two spoals of ribbon. The Iength of the ribbon on each spool is listed below.
+ spool 1: 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of nbbon remaining after cutling the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu?nh er of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining *
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 1 T1-10

78.  Continued, Please refer fo the previous page for task explanation.

Zoe has a third spoo! of ribbon. The spool contains a minimum of 27 fest of ribbon.
The exact number of additional feet of ribbon on the spoot is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be

remaining. ,
B . L
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Subject: Math ltem: Spools of Ribbon Grade: 5

Name

Number Score Notes

Ti-1

T1-2

T1-3

T1-4

T1-5

T1-6

T1-7

T1-8

T1-9

T1-10
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PSSA and Keystone Exams

Fall 2015
Item Writing and Handscoring Training Workshops

PSSA, Grade 5
Math

Spools of Ribbon

Handscoring

Training Set 2






PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-1

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is-listed below.

« spool 1; 46 feet
+ spool 2; 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

Zoe can cut from each spool.

5-foot-long pieces.

Show or explain all your work.

A. Complete the table below by finding the greatest number of 5-foot-long pieces

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the

Pleces on Spool

Spocols of Ribbon
Spgol Greatest Number Fraction of a
Nu?'nber of 5-foot-long 5-foof-long Piece

Remaining

- e

D.

: 3

O
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-1

78.  Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown,

| B. Explain why for every additional 5 feet of ribbon on thespoal Zoe can eyt
1 additiona} 5-foot-long piece of ribbon but will always have the same number of
Teet of ribbon remaining— ) o )

/:ks part of the explanation, find the number of feet of ribbon that would be
remaining. -
oing: L
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-2

78. Zoe has two spools of ribbon, The length of the ribbon on each spool is listed below.
« spool 1; 46 feet
- spool 2; 19 feet

Zoe will cut the ribbon inte 5-foot-long pieces.

g P g — e ey —

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

. Spools of Ribbon
Spocol | Greatest Number Fraction of a
N ul:nb or of 5-foot-long- 5-foot-long Piece
, a Pieces on Spool 'Remaining

-
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-2

78. Continued. Please refer to.the previous page fortask explanation,

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
- The exact number of additional feet of ribbon on the spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would.be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-3

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
+ spool 1: 46 feet
* spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu!:nber of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining

1 q
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-3

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2

78. Zoe has two spoois of ribbon. The length of the ribbon on each spool is listed below.

« spool 1: 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

Zoe can cut from each spool.

5-foot-long pieces.

Show or explain all your work.

A. Complete the table below by finding the greatest number of 5-foot-long pieces

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the

Spools of Ribhon
Snool Greatest Number Fraction of a
Nu?nb or of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining
T ] 492 J
2| 34 Y
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-4

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the speol Zoe can cut
1 additional 5-foot-fong piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

ZO@ “\05 CXh’\q (‘ibb@'ﬂ because
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-5

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
» spool 1: 46 feet
* spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Snob! Greatest Number Fraction of a
Nu?nb er of 5-foot-long 5-foot-long Plece
Pieces on Spool Remaining

]

1 9 s
4.
2 3 5

x 4= 15
S‘/\ = 15
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-5

78. Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 addifional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

Zot con et ] gddtonal 542t bng piece of
foben  boadugt, every Piece 15 5 Lt lan ‘
The. rwmnber of Lok reIaining _wéulal
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-6

78, Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
spool 1: 46 fest
+ spool 2: 19 feet

Zoe wilt cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool,

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show cr explain all your work.

Spools of Ribbon
Spool Greatest Number Fraction of a
Nu?nber of 5-foot-long 5-foot-long Piece

Pieces on Spool Remaining

19 s
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-6

78.  Continued. Please refer-to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,
The exact number of additional feet of ribbon on the spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut .
1 additional 5-foot-long plece of ribbon but will always have the same number of
feet of ribbon remalning.

As part of the explanation, find the number of feet of ribbon that would be
remaining. '

b perutieieehvep b 28 rems T

’ AL phece 274
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-7

78. Zoe has two spools of ribbon, The length of the ribbon on each spool is listed below.
« $pool 1: 46 feet
+ spoo} 2: 19 feet,

Zoe will cut the ribbon into 5-foot-long pieces.

A, Comp!ete ihe table beiow by finding the greatest number of 5~foot-!ong pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the,
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Spoo] | GreatestNumber |  Fraction of,a
Nu‘l)'nb or of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining I
1 2
1 %
Tz e
? 5 |
Oue @19
. 5 _.'
.9 3.7

;i;z al\:rdiol Mb;/% 'bﬁhpaa myol@ewmes

8
10-
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-7

A}

1 Zoe has a third spool of nbbon The spoo! contains a minimum of 27 feet of ribbon.

78.  Continued. Please refer to the previous page for task explanation.

The exact number of additional feet of ribbon on the spool.is unknown_.

B. Explain why for every additional 5 feet of ribbon on the spooi Zoe c¢an cut

1 additional 5-foot-long piece of ribbon but will always have the same number of |
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

@ﬂq @53
5 'T
a”/‘
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-8

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

+ spool 1; 46 feet
» spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.,

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Greatest Number Fraction of a
Spool
Number of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining

T 0 %
2 3 %

_qRI=9% SOD%
SHe s
5 T

|
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PSSA Math:

Spools of Ribbon, Grade 5 Training Set 2 T2-8

78. Continued. Please refer to,the previous page for task explanation,

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

:/‘_27 S not divisible & 5,36 i§ 2715-
5 %5 Hvejn Sor CVery s added Z ‘
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-9

78, Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

+ spool 1: 46 feet
+ spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool. )

5-foot-long pieces.

Show or explain all your work,

Spools of Ribhon ,
Spool Greatest Number Fraction,of a
Nu?nber of 5-foot-long 5-fcot-long Piece
Pieces on Spool Remaining
1_ g Z
: Ho
: | A [ &
19

- L Cout _how may Py

Lol +jn T

& 158 Tacn' 951?__1‘)‘0
Te "Sgray
3G e

| & "“‘“’a{%@ 5__3" f_@
s N

Also, find the fraction of a 5-foot-long plece of ribbon remaining after cutting the _
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-9

78.  Continued. Please referto the previous:page for task explanation,

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,
The exact number of additional feet of ribbon on the spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the spoo! Zoe can Gut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number, of feet of ribbon that would.be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-10

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
. spool 1; 46 feet _
* spool 2; 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the ‘
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Spool | Greatest Number Fraction of a
Nu}:nber of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining

T I
. | v | 4
SN T X
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PSSA Math: Spools of Ribbon, Grade 5 Training Set 2 T2-10

78. Continued. Please refer to the previous page for task explanation.

| Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,
The exact number of additional feet of ribbon on the spool is unknown.

B. Explain why for every additional 5 feet of ribbon on the spoal Zoe can cut

1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining. )

As part of the explanation, find the number of feet of ribbon that would be
remaining.

e ORNHL 4T #7957 ) (7
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Subject: Math Item: Spools of Ribbon Grade: 5

Name

Number Score Notes

T2-1

T2-2

T2-3

T2-4

T2-5

T2-6

T2-7

T2-8

T2-9

T2-10
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PSSA and Keystone Exams

Fall 2015
Item Writing and Handscoring Training Workshops

PSSA, Grade 5
Math

Spools of Ribbon

Handscoring
Practice Set

*Responses in this set do not have true scores. Apply scores based on
scoring criteria.
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

P-1

76. Zoe has two spools of ribbon. The length of the ribban on each spoot s listed below.

- spool 1746 feet
» spool 2: :I9feet

Zoe will cut,the ribbon into 5-foot-l'ong pieces.

I~

Zoe can cut from edch spool.,

5-foot~long pieces.

Show or explain all your work.

= panass e,

A, Compleke the table below by find ing the greatest number of 5-foot-long pieces

Also, find the fraction of a 54oot-long piece of ribbon- emaining after cutting the

Spools of Ribbon _ ,
Spool | -GreatestNumber |  Fractionofa
. N u‘x)nh er of 5-foot-long 5-foot-fong Piece
1 Pieces on Spcel Remaining
1 Q
‘.
“N
2 5

e -
R
\
q whole R"\%}&S
l. < a ‘5 H
D g, MBI
s 0! R

o%a RS [(’Vfﬁ
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-1

- T6.

Continued. Please refer to the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,
The exact number of additional feet-of ribbon on the spoo! is unknown.

| B.

Explain why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of -

feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

© The 250N whg) ot 1 Souc\dé an additonal
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-2

78. Zoe has two spools of ribbon. The tength of the ribbon on each spool is listed below.
+ spool 1: 46 feet
+ spool Z; 19 feet

Zoe will cut the ribbon into S5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool,

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutfing the
5-foot-long pieces.

Show or explain all your work.

Spools of Ribbon
Snool " Greatest Number Fraction of a
Nul:nb er of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining

A%y &
P 23“(\" Tk
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78.  Continued. Please refer to the previous page for tagk explanation:

Zoehas a thxrd spool of ribbon. The spacl contains a minimum of 27 feet of nbbon
The exact number of additional feet of ribbon on the spool is unknown,

B. Explain-why for every additional 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon-remaining.

As part of the explanation, find the number of feet of ribbon that wouid be
remaining.

The oumidtr oF Segk cemminigy  wuld
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
« spool 1: 46 feet.
+ spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work.,

Spools of Ribbon
sbool | Greatest Number :|  Fraction of a
Nu‘x,nber of 5-foot-long | S5-foot-long Piece
) Pleces on Spoaol Remaining

L Tey | l_'ﬂ___
2 )£ 1 4ey

work.  expls L
oA "53& 3dvided
Angweriq g M5 Ywe, Y M by

21 0F feex por-
TORY
, g 1Y @aok spool
K
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¥ Knew ¥ wovid

have Yo o ‘\‘\’ Yo :96‘\' hy

Angwer: 3 e

A. Complete the table below by finding the greatest number of 5-foot-long pieces

IS wWers gnd Femanders.

Page 4-75

P-3



PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78. Continued. Please refer to.the previous page for task explanation,

Zoe has a third spool of ribbon. The spooi contains a minimum of 27 feet of ribbon.,

feet of ribbon remaining.

1 -
Ansver: § g

remaining,
ool 31 5 gv7

The exact number of additional feet of ribbon onthe spool is unknown,

B. Explain why for every additional 5 feet of ribbon on the:spoo! Zoe can cut
: 1 additional 5-foot-long piece of ribbon but will always have the same number of

As part of the explanation, find the number of feet of ribbon that would be

4

Zoe W\l haye
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hove P mathder
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* spool 1: 46 feet
» spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-iong pieces.

PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78. Zoe has two spoals of ribbon. The length of the ribbon on each spool is listed below.

Show or explain all your work,

Spools of Ribbon

A Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.,

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foat-long pieces.

Spool .
Number

Greatest Number
of 5-foot-long
Pieces on Spool

Fraction of a

5-foot-long Piece

Remaining

P-4

| Ws | @
2 | 15 M : I‘S

we taket+he ngmber = 5 hecovse
She ddd 5Foot s
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78.  Continued. Please refer {o the previous page for task explanation.

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon,

The exact number of additional feet of ribbon on the spoo! is unknown,

B. E£xplain why for every additional 5 feet of ribbon onthe spool Zoe can cut
~{-additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining. ‘

we (eonno = hy 5 ;Sa'q_apdedma[

M. — Fraction
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

18. Zoe has two spools of ribbon, The length of the ribbon on each spool is listed below.

+ spool 1: 46 feet
+ spool 2, 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

Zoe can cut from each spool,

1 S5-foot-long pieces.

Show or explain all your work.,
Spools of Ribbon

Spool I Greatest Number

Number Pleces on Spool

Fraction of a

of 5-foot-long §-foot-long Plece

Remaining

A. Complete the table below by finding the greatest number of 5-foot-long pieces

Also, find the fraction of a 5-foot-fong-piece of ribbon remalning after cutting the 7
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78. Continued, Please refer to the previous page for task explanation.

+4 Zoe has a third sgnol of nbbon The spoo' contains a minimum of 27 feet of ribbon,,
The exactnumber of additional feet of ribbon on the spool is unknown,

B. Explain why for every additional 5 feet of ’ribbcn on the spooi Zoe can cut -
1 additional 5-foot-long piece of ribbon but will always have the same number of -
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.

To Lo ngd 3o oy 175t
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-6

76. Zoe has two spools of ribbon, The length of the ribbon on each spool is listed below.
+ spool 1: 46 feet
+ spool 2; 19 feet

Zoe will cut the ribbon into S-foot-long pieces.

A. Complete the table below by finding the greatest number of §-foot-long pieces
Zoe can cutfrom each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces.

Show or explain all your work. _
Spools of Ribbon

Sooo] | Greatest Number Fraction of a-
Nu?nb er of 5-foot-long 5-foot-long Plece
Pieces on Spool Remaining
!
2 A
: 9
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

76. Continued. Please refer to the previous page for task explanation.

e

' Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
{ The exact number of additional feet of ribbon on the spool is unknown,

B. Explain why for every additionai 5 feet of ribbon on-the spool Zoe can cut

feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be.

remaining. |
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

P-7

78. Zoe hastwo spoois of ribbon, The length of the ribbon on each spool is listed below,

«  spooi 1: 46 feet
e spool 219 feet

Zoe will cut.the ribbon into 5-foot-long pieces.

5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Aiso, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the

Show or explain-all your work.,

Spools of Ribbon
Snool Greatest Number Fraction of a
Nu?nber of 5-foot-long 5-foot-iong Plece

-Pieces on Spool Remaining
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

78. Continued. Please refer to the previous page for task explanation,

—— — — — N T T

Zee has a third spool of nbbon The spool contains a nHnimum of 27 feet of ribbon.
1 The exact rumber of additicnal feet of ribbon on the spool is unknown,,

B. Explain why for every addifionai 5 feet of ribbon on the spool Zoe, can cut

1 additional 5-foot- lcng piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find thenumber of feet of ribbon that would be
remaining. .
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

76. Zoe has two spools of ribbon. The length of the ribboriron each spool is listed below.

+ spool 1. 46 feet
+ spool 2: 19 feet

Zae will cut the ribbon info 5-foot-long pieces.

5-foot-long pieces.

Show or explain all your work.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long plece of ribbon remalning after cufting the

Spools of Ribbon
Snool Greatest Number Fraction of a
Nul:nber & -of 5-foot-long 5-foot-fong Piece
Pieces on Spool Remaining
] 1 G at
S
R 4
2 D D=
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set

76. Continued, Please refer to the previous page for task explanation.

The exact number of additional feet of ribbon on the spooi is unknown.

B. Explain why for every additicnal 5 feet of ribbon on the spool Zoe can cut
1 additional 5-foot-long piece of ribbon but will always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-9

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.
« spool 1; 46 feet
+ spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

A. Cornplete the table below by finding the greatest number of 5-foot-long pieces
Zoe can cut from each spool.

Also, find the fraction of a 5-foot-long piece of ribbon remaining after cutting the
5-foot-long pieces. '

Show or explain all your work.

Spools of Ribbon
: Spoo| | GreatestNumber |  Fractionof a
Nugnber of 5-foot-long | 5-foot-long Piece
i Pieces on Spool Remaining
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-9

78. Continued. Please refer to the previdus page for task explanation..

Zoe has a third spool of ribbon. The spool contains a minimum of 27 feet of ribbon.
‘The-exact number of additional feet of ribbon on the spool is unknown. -

B. Explain why for every additional 5 feet of ribben on-the spool Zoe can cut
1 additional 5-foot-long piece of ribbon butwill always have the same number of
feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining.
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-10

78. Zoe has two spools of ribbon. The length of the ribbon on each spool is listed below.

= spool 1; 46 feet
« spool 2: 19 feet

Zoe will cut the ribbon into 5-foot-long pieces.

5-foot-long pieces.

A. Complete the table below by finding the greatest number of 5-foot-long pieces
Z_oe can cutfrom each spool.

Also, find the fraction of a 5-foot-leng piece of ribbon remaining after cutting the

Show or explain all your work.,

Spools of Ribhon
Spool | Greatest Number Fraction of a
Nulr)nb er of 5-foot-long 5-foot-long Piece
Pieces on Spool Remaining
1 9 /T
2 3 4/
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PSSA Math: Spools of Ribbon, Grade 5 Practice Set P-10

78. Continued. Please refer to the previous page for task explanation.,

Zoehas a lhlrd spool of nbbon The spool confains a minimum- of 27 feet of nbbm
| The exact number of additional feet of ribbon on the spool is unknown.

‘B. Explain why for every additional 5 feet of ribbon on the spooi Zoe ¢an cut
1 additional- 5-foo*-!nng piece of ribbon but will always have the same number of

feet of ribbon remaining.

As part of the explanation, find the number of feet of ribbon that would be
remaining-
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PRACTICE SET*
Subject: Math Item: Spools of Ribbon Grade: 5

Name

Number |Score Consensus Notes

p-1

p-2

P-3

P-4

P-5

P-6

P-9

P-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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Pennsylvania Math Training Workshop GRADE 5 Spools of Ribbon Ik

Page Score Description
O A. 0 points — incorrect answers and incorrect support.
1 B. 0 points — incorrect or no answer (“same number” or “25"?) and incorrect
explanation.
4 A. 2.5 points — all four correct answers and complete support.
2 B. 1.5 points — correct answer (2) and complete explanation.
2 A. 2.5 points — all four correct answers and complete support.
3 B. 0 points — no answer is given and the explanation is incorrect.
3 A. 2.5 points — all four correct answers and complete support.
4 B. 1 point — incorrect answer (“2/5 of a foot”), complete explanation.
1 A. 0.5 point — no correct answers, complete support. Note that decimals can
be used for the remainders in the support but must be converted to fractions
5 in the table. The work seen on the bottom of the page is “extraneous” and
thus a non-issue.
B. 0.5 point — correct answer (2), incorrect explanation.
4 A. 2.5 points — all four correct answers and complete support.
6 B. 1.5 points — correct answer and complete explanation. “2/5 of the 5-foot-
long piece” is equivalent to “2 feet” and is acceptable for the answer.
O A. 0 points — incorrect answers and no support is given. “9.2" and “3.8” in
7 the table are no credit.
B. 0 points — incorrect answer and no explanation is given
2 A. 1.5 points — two correct answers (9 and 3), complete support.
8 B. 0.5 point — correct answer (2), incorrect explanation.
3 A. 2.5 points — all four correct answers and complete support.
9 B. 0.5 point — correct answer (2), incorrect explanation.
1 A. 1.5 points — two correct answers (9 and 3), complete support.
10 B. 0 points — incorrect answer and explanation.
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Pennsylvania Math Training Workshop GRADE 5 = Spools of Ribbon T2

Page

Score

Description

1

N
A. 1 point — two correct answers (9 and 3), no support is given.
B. 0.5 point — correct answer, incorrect explanation.

A. 2.5 points — all four correct answers and complete support.
B. 0.5 point — correct answer only; the explanation is insufficient for any
credit.

A. 2.5 points — all four correct answers and complete support.

B. 0.5 point — correct answer only. The explanation is incorrect and “27 + 5”
(with or without a remainder shown) is considered “counting down” which
receives no credit.

A. 0 points — incorrect answers and no support is given.
B. 0 points — no answer is given and the explanation is insufficient for any
credit.

A. 2 points — all four correct answers only; the support is too incomplete for
credit (a “check” can be full credit for ¥z point, but there is no support for the
remainders).

B. 0.5 point — correct answer only, the explanation is insufficient for any
credit.

A. 2.5 points — all four correct answers and complete support.
B. 1.5 points — correct answer and complete explanation.

A. 2.5 points — all four correct answers and complete support.
B. 0.5 point — incorrect answer, correct but incomplete explanation (like SG-
4; not enough explanation of “why’).

A. 2.5 points — all four correct answers and complete support.
B. 1.5 points — correct answer and complete explanation. '

A. 0.5 point — incorrect answers, complete support (repeated subtraction with
remainders shown is a correct procedure; counting errors lead to the
incorrect answers).

B. 0 points — incorrect answer (7) and incorrect-explanation.

10

A. 2.5 points — all four correct answers and complete support.
B. 0 points — no answer is given and the explanation is insufficient for any
credit.
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